1. General Information

o IPROTCHOR IS - o onisive o mmm mmsin nvpiis st e gl iy 3 e oo s s s i s a8 e PR A A e B Lcsla
1-2. Proper use and OPBRAtION ........ . i iiidrssussii b s s a s e srsie s b osa e s
1:3, SAFEtY HOTES .1 ovs . mrbhie duns mieabad w38 e de S el ks 54§ o gl luwmeibionias Foss o B

2. Contents

2-1. Accessoryincluded . .. ..o ke s S L e e s g e e s
2-2. NAMC OF PAIS .. cn e b o i s b e % =55 2216 04 e e s e g b g n et ettt v

3. Operating Instruction
B CONNBCHOTICIAGIAIN 1 »io 1 o5 <irsr t 4 2 einsime s m g 45§ bd i 30,118 A e 0 bt 0 it 4 9 T T e 862 3 0a

4, Functional description
4-1. Searching the satellite. ..
4-2, BacktoHOMEposltlon&Tumlngoff
4-3. Special function . e

S.SOMWMTCUPRGIRIE ... ... .. ...cooionriipimmmmmmmanmmsienpanisshessbontisnssions
& TEOUBIRSNOTIDE < ... .ot slivscadivsssvsssssicsssisnssasmissmssomssassni

7. Specifications

T D IO BB st o b e T b R A e oo 3 o 0T AR o T B A PR A e Ak
72, SPOCIICALIONS . v v ot seaein e e msn ol s s b4 s b d g n e S AL b s bbb s

8. Caravan/Motorhome Installation

81, Required spacefor SNIPE3 ... ... A e L G
8-2. Equipment for installation ... ...c..ooiuimuiiii i e
8-3. Iristructon for Installation oo vl bl d o il T T S s b e s R

~

e



1. General Information

1-1. Introduction
These instructions describe the functions and operation of SNIPE3, auto skew satellite system.

Correct and safe operation of the system can only be ensured by following instruction, both
for installation and operation.

SNIPE3 is an intelligent satellite-TV reception system which can align itself towards a preset
satellite automatically as long as the system is located within the footprint of the selected
satellite.

SNIPE3 only occupies requisite space while it performs the necessary adjustments with slim
and agile antenna body.

For general operation, please ensure that the system always has a clear view to the sky. In
Europe, all satellites are in an approximate position on the equator. If the satellite’s signal
beam is interrupted by obstacles such as mountains, buildings or trees, the unit will not
function and no TV signal will be received. Y

For more information on general use of this unit consult local dealer for assistance.

ENGLISH - 2

1-2. Proper use and operation

This product has been designed for portable use and fixed installation on vehicles with
maximum speeds of 130 km/h. The unit is programmed to automatically aims at geostationary
television satellites.

The power is supplied by a standard vehicle electrical system with a rated voltage of 12 Volts
DC. For installations on the vehicle, use power input cable (cigarette lighter adaptor) to
supply power. For portable use, optional power adaptor produced by SNIPE3 manufacturer
must be used.

Use of the equipment for any other purpose to the one specified is not permitted.

Please also note the following instructions from the manufacturer :

. Itis not possible to add or remove components on this product.

. The use of other components other than those originally supplied is not permitted.

« To complete installation, installer must strictly follow instruction in the supplied user manual.

Failure to follow the user manual may cause damage to the unit or user's vehicle.

The product does not require any regular maintenance; all service must be carried out at

approved service centers.

. All relevant guidelines of the automotive industry must be observed and complied with.

« The equipment must only be installed on solid vehicle roofs.

. Avoid cleaning user's vehicle with the mounted satellite systemin a drive-through car wash or
a car wash with a high-pressure cleaner.

1-3. Safety notes

2] =

ENGLISH -3



2-1. Accessory included

<\

-

ENGLISH -

B

\ NS A J J
Main unit Mounting plate Power input cable Signal cable - Tm
(Cigarette lighter adaptor)  (x2 for optional twin outputs)
el S N T
K AN A
Controller cable- 7m STB cable - 1.5m
=T
&y || (W
Base pads Carrying case Cable holder Cable gland 2
N S N\
—~ || -
Tovw {17700 | ﬁ
. J J
Allen wrench Screw set User manual Power adaptor
M6 15 (B), M4 x 20(14) (Optional)

2-2. Name of parts
Main unit
g )
sk LNB
Antenna __M K \\ Skew pivot
Elevation to Contmllec cable connection
{pre-connected)
Main body
to STB (optional)
Mountin te to Controller ("ANT" port)
L i
Controller
- T
Front

rruw buttons
HOME button

DiSEQC button
Controller bracket hole lite LEDs
N L - s DiSEqC LED
UsBport - kLED
HOME LED
LED Indicator 'Dn Uoﬁ 'Blinking |
«Back Dip switch (Mode selector) Controller cable from Main unit
Signal cable from Main unil Power port
STB cable to STBI l
. \1 {(l‘\ ' (8! I:: _.\I"‘ |
Uy G T [®]
X P MODE  ANTENMA UN uut_ sawER N

ENGLISH - 5




3. Operating Instruction

3-1. Connection diagram

/

CONTROLLER

Power input cable
Cigar jack

-

# Extra connection
for twin outputs (optional)

v
b
@

STBeable(1sm) | |
5£

f
=

3

Signal cable (7m)

Controller cable (20pin cable)

MAIN UNIT

— : = ~

There are two cable connections from the main unit to the controller

Use controller cable (20pin) to connect the controller and the cable running out from the main unit
Use 518 cable (the shortest cable) to connect the controller and STB

Please check the labels to use the correct cable for the job

Please ensure the provided cables are used and not modified in anyway

- Attach four(4) base pads to the bottom of antenna base.

ENGLISH -6

4. Functional description

% Get ready to use

Default is set Automatic mode;
both dip switches are up.
Customers should use only in
Automatic mode.

Mode selector is for A/S, soitis
not recommended by consumers —

Automatic mode

to modify it arbitrarily. cte B LV

Warning
If the switch is handled in other than the Automatic mode, the unit does not operate

normally.
Consumers should never do this, and if trouble is occurred in Manual mode, guarantee

will not be provided.

4-1. Searching the satellite

antenna position check (@)
searching satellite (8)/ found (@)
firmware ver. (Binary code)

| -
R i
R e

)i

)
d: L-! l‘ aistac g 4 st :

;
O O

a. When the controller is turned on, some LEDs light indicate firmware version
{It is made by binary code and for future service purpose)

b. Once the unit is ready to use, one of satellite LED is lit ON at default satellite
¢. Goto the target satellite using arrows buttons and press SET button to confirm

d. Before satellite search, HOME LED blinks for antenna status(position) check
(If antenna was not at HOME, antenna has to return to HOME first, LED may blink for a while)

Lock LED blinks during satellite search and becomes solid when the target satellite is found

m

f.  After use and before travelling, press HOME button for HOME positioning

4-2. Back to HOME position & Turning off

A. Automatic
In some cases, the antenna is automatically stopped and sent to HOME position

a. Ifvehicle drives 25km/h or higher for 20 seconds

b. Ifignition cable is connected and ignition signal is detected

ENGLISH -7



S V®Nown s W -

=
N

4-3. Special function
A. DiSEqC setting
Refer SNIPE3's pre-satellites for DiSEQC 1.1 when user setup at STB

LNB 1
LNB 2
LNB 3
LNB 4
LNB 5
LNB &
LNB7
LNB S
LNB9
LNB 10
LNB 11
LNB12

Default setting for DISEQC is OFF, DISEGC LED is off
DiSEQC On(@) / OFf(())

JUUUuum

1
N
) LI

After use and before travelling, the antenna has to be sent to HOME manually

S R

DeEaC

O

a. After use and before travelling, press HOME button to return the antenna back to HOME position and
the unit is automatically turned off in 30 seconds

b. HOME LED blinks during HOME positioning and becomes solid when the antenna is at HOME

Turksat
ASTRA2
ASTRA3
ASTRA1
Hot Bird
Etelsat 9
ASTRA 4
Thor

Eutelsat 5W

Hispasat
USER1
USER2

DSESC  HOME

6@ 000

; Tc_> switch the function ON/OFF, make sure that antenna is at HOME and press DiSEQC button for
DiSEqC can be executed after pressing 2 seconds (See also DISEQC LED status changes between ON

For DISEQC operating, user needs to assign DiSEQC satellites list at STB is i
o 5TB is in same order as above

When antenna is not at HOME position, press SET button to activate DiSEqC

e

Q-

B. GPS location manual setting
In case, antenna takes long time to search a satellite, there is the extra option of location

setting for GPS.
Country indication

| " gyf }}Q}g@«%}fufu 586066

a. Pressand hold DiSEqC button then turn on the controller

b. Select the country from available options (four(4) countries) using DISEqC/HOME buttons to change
and confirm with controller LED ON as below table

All LED OFF

ON B 5
- ON =
= S aN

. Select the city from avallable options using arrow buttons to change and confirm with LED ON as

below table
. Gemany  Fanee  MNetheland  laly
Aachen Bayorine Alkmar Barletta
Augsburg Brest Apeldoormn Bolzano
Bad Homburg Caen Enschede Cagliai
Bamberg Calais Groningen Carpi
Berlin Calmar Hoogeveen Catania
Chemnitz Mantes Leeuwarden Lecce
Gottingen Nizza Nijmegen Livarna
Hambuirg Paris Roermond Milano
Munster Saint-Etienne Rotterdam Napali
Offenburg Dijon Tilurg Pesaro
Passau Toulouse Utrecht Pescara
Neubrandenburg Limoges Emmeloord Roma

d. Once location setting is finished, press SET button to save
e. LEDs become off and controller will be automatically turned off

i f Atnextturn on, the antenna finds satellite with saved infarmation

) NOTE

Q GPS location manual setting is an option for instant satellite search, the antenna
will search satellite based on GPS data after GPS is received

ENGLISH -9



6. Troubleshooting

There are a number of common issues that can affect the signal reception quality or
the operation of the unit. The following sections address these issues and potential

solutions

A. No function when power on the controller
i. Check again all the cable connections have been made correctly.
- Connection between the power and controller.
- Connection between the controller and antenna. Make sure that the left port of the antenna should be
connected to the controller.

Power input cable

ii. Check if the power input cable has been damaged.

iii. Check the battery polarities (+/-).

N
ore B. Fail to search the selected satellite

# USB 2.0 standard has to be only used for upgrade i. Satellite signals can be blocked or degraded by buildings, trees.
#* Use FAT32 format USB only Make sure there are no obstructions in a southward direction.

ii. Select another satellite as example Astra3, if this locks then select your desired satellite.

1. Transfer software program to a USE root folder (not belonging to any other folder) in an empty USB

I Please go to website www.selfsat.com to download upgrade program (software) iii. Turn the unit off and then back on again and select desired satellite.

Il Incasea ('n)r\Frr.:ller does not recognize the USB drive, take the USB out and plug into a PC.
ﬁlgh1 click USB folder, go to "Properties” and check if the “File system” is FAT32.
I not, right click USB folder again, go to “Format” and re-setup a file system to FAT32

4 Ensure that the unit is turned off and plug the USB into USB port of controller G I:Ae::anlcal pr:hlems A RbE)
. If the antenna does not move into red position.
3. Press and hold SET button then turn on the power - TWWPOWETOFF’ON@]"‘
4. During upgrade process, satel it in sequenc % b
g upgrade process, satellite LEDs are lit in sequence ii. If the antenna makes a noise whilst remaining static.
For example : - Tryto power OFF/ON again. If problem persists, please contact local dealer/shop for assistance.

U A AR
! P’.{l’ -f’ffff I ?35; 4 £, Jsf?f"’féfg‘gf?‘,&f ‘j@} A}"J;‘frf : g;‘,@‘g;}-‘if:&}?

D. Other issues
i. If the system has been improperly wired, it will not operate properly. Contact local
dealer/shop for assistance of cable damage.

}“.,

. Qnce upgrade s completed, controller starts to reboot

== =l

ENGLISH - 10 ENGLISH - 11




7. Specifications

7-1. Dimension

8. Caravan/Motorhome Installation

8-1 . Required space for SNIPE3

Please allow that there is enough space around SNIPE3 for flat antenna section to complete
i %2 ' . a full 360° scan of the sky and return to the HOME position
=

|| . T

- Vehicle rear

] MAX 426mm
- MIN 201mm

T_ =5 515mm |

LB ——
Center of
the rotation unit
- -
7-2. Specifications A
Input Satellite Frequency i 107 ~ 12.75 GHz Pl
Polarization | Vertical & Horizontal AT A :Radius 22.5
[ : us 22.5cm
1
Antenna Gain ‘ 337 dBi @ 127 GHz b
Slze (WxDxH) 515 % 355201 mm B: Bacllils 32cm
e - t ight 19.
: T up to a height 19.4cm
vt R | il ey o0 ) (e fee 'y N
Min EIRP | SOdBW Drbriny Chertion

1

Angle Range (Elevation , Azimuth , Skew) ‘ 157~ 90", 3607, 45"~ +45°

Satellite Searching Time

LNB Output Frequency
i L.O. Frequenicy

Operating Temperature

InputVoltage

Power Consumption

120 secands {AVG)
1/ 2 output (Optioral)
950 ~ 2,150 MHz

| e gz

| 975/ 106GHz

-30°C ~ +60°C

ENGLISH-12

19.6cm
la.Scm
I',I——l——
1
_.al_h- II| {
S
| EEE— —_— —-*.II
| g = = S— -

ENGLISH - 13

uwogzl

W Lol



8-2. Equipment for installation

P Silicone
Signal cable (7m)

8 Allen wrench
Controller bracket, Rear cable cover
e Controller cable (7m)
Controller
STB cable {1.5m)
0 Masking tape
© M6 x 15(8), M4 x 20(14)
@ Mounting plate
Power input cable (Cigarette lighter adaptor)
Cleaner
@ Power dril
2mm drill bit, over 25mm drill bit
j Cable holder & gland

Front of vehicle (3 Holes)

\ 4 ¥ Drivingdirection ¥ L 2

8-3. Instruction for installation

N B | B

X j L
Clean the surface with cleaner

Locate mounting plate in the center of the
vehicle roof

A-3 A - | )
%, J . o
Attach masking tape outside of the mounting Put aside the mounting plate to apply silicone

plate by 5Smm away from the plate edges within the attached tape line but leave 2cm

inward gap from the line

ENGLISH - 14

B. Assemble 7pcs of M4x20 bolt to fix the mounting plate

e
Apply silicone on the holes

-

Place the mounting plate on the silicone and
make 7 holes (2mm) with a power drill

B-3 B-4

L1
Re-apply silicone to cover bolts assembled

e
Assemble seven(7) of M4x20 screw

C. Apply silicone be g plate and masking tape

N e
Apply silicone around mounting plate edges Tidy silicone surface
c3 h C-4 ey
\ J \ Y,
Remove masking tape and allow to dry Prepare to place the antenna on to the upright
bolts

ENGLISH-15



D. Fix mounting plate with 8 pcs of M6x15 bolt using allen wren

01 ] @

TNy

. J AL ;

Parts required, allen wrench and eight(8) of Place the antenna on mounting plate and
M6x15 bolt tighten firmly each bolt by allen wrench

+ approx. 40~45cm _+

N S

Place cable out from the antenna to have a rough idea of cable holder location (approx. 40~45cm
away from the antenna port) and apply masking tape 5mm way off from the outside of holder

)

s ¥, .
Drill a 25mm hole in the center of the tape Make sure that hole size is minimum so that the
marking cable can pass through

ENGLISH - 16

\

~

g,
Signal cable, controller cable, cable holder and gland are required

~

i

Set up required parts as above picture

( _

Place the assembled cable holder inside the tape
marking and drill three(3) of 2mm holes

Apply silicone around cable holder and on the
top of screws for waterproof

S /

Fix cable holder on the vehicle roof with
three(3) of M4 x 20 screws on drill holes made

%

Connect cables to the ports of the antenna,,
remove masking tape and tidy silicone before

dry

ENGLISH-17




A

W -

Get Power input cable and plug into cigar
lighter socket (12V outlet)

To source power from car battery, cut off
cigar-jack connector to take inner three cables
out and peel off each to take copper cable out

Match the power cables polarities to the

wi ion cable to ignition port of the
vel

batt37 polarities, red to red / back to black and
hhllté gnit
e

Get Controller bracket, rear cable cover and
four(4) M4x20 bolt

. Kip Lo

M . ¢

Place controller and plug the cables to the

controller (Power, signaland controller cables)

If desire to place the controller on the wall, fix
the controller with provided bracket with
four(4) screws

Once all cables are connected, connection part
can be hidden using rear cable cover

ENGLISH- 18

e ,,—




